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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, which effect does the configuration on R2 have on OSPF routing in the network? 

A. R2 will block traffic destined to the 192.168.10.0/24 network. 

B. A summary route for the 192.168.10.0/24 network will be advertised to Area 0. 

C. The 192.168.10.0/24 route will not be advertised to Area 1. 

D. Area 2 will use a default route to reach Area 0 and Area 1. 

Correct Answer: C 

 

QUESTION 2

Which Junos feature allows you to combine multiple interfaces into a single bundle? 

A. VRRP 

B. Virtual Chassis 

C. LAG 

D. NSB 

Correct Answer: C 
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QUESTION 3

Which three BGP attributes are well-known and mandatory? (Choose three.) 

A. AS Path 

B. Next Hop 

C. MED 

D. Local Preference 

E. Origin 

Correct Answer: ABE 

 

QUESTION 4

What is reviewed first in the BGP route selection process? 

A. the peer with the lowest IP address 

B. the route with an origin of incomplete 

C. the path with no MED value 

D. the next-hop resolution 

Correct Answer: D 

 

 

QUESTION 5

Switch-1 in the exhibit receives a packet from User A with a destination MAC address of 

00:26:88:02:74:47. 

Which statement is correct in this scenario? 

A. 

Switch-1 floods the packet out ge-0/0/6, ge-0/0/7, ge-0/0/8, and ge-0/0/9. 

B. 

Switch-1 floods the packet out ge-0/0/7 and ge-0/0/8. 

C. 

Switch-1 floods the packet out ge-0/0/7, ge-0/0/8, and ge-0/0/9. 

D. 
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Switch-1 sends the packet out ge-0/0/7 only. 

Correct Answer: C 

 

To forward a frame destined to that specific mac -address, it will know out of which port to send the frame. Flooding
however occurs when the switch does not know of the destination mac - address? say the switch has not learnt that
mac address yet; or maybe that specific entry expired so it got flushed away from the mac-address table. To ensure the
frame reaches its intended destination, the switch will replicate that frame out of all ports, less the port where the frame
was received that\\'s flooding. 
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